
 

SHIVALIK SCHOOL, BHARTHARI ROAD, BEHROR MOB- 9784067297, 9602684259, 01494-294297, www.shivalikschool.co.in 
 

SHIVALIK 
Medical/IIT-JEE/Foundation 

NEET & AIIMS/ IIT JEE-2021-23 

(Practice Sheet) 3 (XI Appearing) 

 

TOPIC:- Units, Dimensions and Measuremennt  

SUB TOPIC:- Dimensional analysis and it’s applications. 

1. From the dimensional consideration, which of the 

following equation is correct :- 

(1)  T = 2π 
𝑅3

𝐺𝑀
                  (2) T = 2π 

𝐺𝑀

𝑅3  

(3) T = 2π 
𝐺𝑀

𝑅2                    (4) T = 2π 
𝑅2

𝐺𝑀
 

2. The velocity 𝑣 (in cm/sec) of a particle is given in terms 

of time t (in sec) by the relation v = at +
b

𝑡+𝑐
 ; the 

dimensions of a,b and c are :- 

(1) a =[ L
-2

], b=[T], c=[LT
2
]    

(2) a =[ LT
2
], b=[LT], c=[L] 

(3) a =[ LT
-2

], b=[L], c=[T]     

(4) a =[ L], b=[LT], c=[T
2
] 

3. From the dimensional consideration, which of the 

following equation is wrong. 

(1) v = u + at                     (2) s = ut + ½at
2
 

(3) v
2
 – u

2
 = 2at                 (4) v

2
 – u

2
 = 2as 

4. Power P is reated to distance x and time t as p = 
𝑏−𝑥2

𝑎𝑡
 the 

dimensional formula of bis.. 

(1) [M
0
LT

-2
]                       (2) [M

0
L

2
T

2
] 

(3) [M
0
L

2
T

-2
]                     (4) [M

0
L

2
T

0
] 

5. In the same equation, the dimensional formula of a is :- 

(1)  [ M
-1

L
0
T

2
]                   (2) [ ML

0
T

-2
] 

(3) [ ML
-1

T
-2

]                    (4) [M
-1

L
1
T

-2
] 

6. Force =  
𝛼

𝑑𝑒𝑛𝑠𝑖𝑡𝑦 + 𝛽3 , What are the dimensions of 𝛼, 𝛽? 

(1) [ML
-2

T
-2

], [ML
-Y3

]     (2) [M
2
L

4
T

-2
], [M

1/3
L

-1
] 

(3) [M
2
L

-2
T

-2
], [M

1/3
L

-1
]   (4) [M

2
L

-2
T

-2
], [ML

-3
] 

7. The distance travelled by a body in nth second is given by 

Snth = u+
a

2
 (2n-1), where u is initial velocity and a is 

acceleration. The dimension of Snth are. 

(1)  [ L]                             (2) [LT
-1

]   

(3) [LT
-2

]                         (4) [L
-1

T] 

 

1. foeh;  fof/k   ls] fuEufyf[kr  esa ls dkSulh lehdj.k lgh 

gS %& 

(1)  T = 2π 
𝑅3

𝐺𝑀
                  (2) T = 2π 

𝐺𝑀

𝑅3  

(3) T = 2π 
𝐺𝑀

𝑅2                    (4) T = 2π 
𝑅2

𝐺𝑀
 

2. ,d d.k dk osx V (lseh-@lSd.M) le; t (lSd.M esa) ds inks 

esa fuEu lw= }kjk O;Dr fd;k x;k gS v = at +
b

𝑡+𝑐
 ; a,b o c 

dh foek;s gksaxh :- 

(1) a =[ L
-2

], b=[T], c=[LT
2
]    

(2) a =[ LT
2
], b=[LT], c=[L] 

(3) a =[ LT
-2

], b=[L], c=[T]     

(4) a =[ L], b=[LT], c=[T
2
] 

3. fofe; fl)kUr ds vuqlkj fuEu esa ls dkSulk lehdj.k xyr 

gS %&  

(1) v = u + at                     (2) s = ut + ½at
2
 

(3) v
2
 – u

2
 = 2at                 (4) v

2
 – u

2
 = 2as 

4. nwjh (𝑥) rFkk le; (t) ds inks esa 'kfDr (P) dk lw= gSA p = 

 
𝑏−𝑥2

𝑎𝑡
 b dk foeh; lw= gS %& 

(1) [M
0
LT

-2
]                       (2) [M

0
L

2
T

2
] 

(3) [M
0
L

2
T

-2
]                     (4) [M

0
L

2
T

0
] 

5. blh lehdj.k esa a dk foeh; lw= gS %& 

(1)  [ M
-1

L
0
T

2
]                   (2) [ ML

0
T

-2
] 

(3) [ ML
-1

T
-2

]                    (4) [M
-1

L
1
T

-2
] 

6. cy =  
𝛼

𝑑𝑒𝑛𝑠𝑖𝑡𝑦 + 𝛽3 , 𝛼, 𝛽 dh foek,¡ D;k gS ? 

(1) [ML
-2

T
-2

], [ML
-Y3

]     (2) [M
2
L

4
T

-2
], [M

1/3
L

-1
] 

(3) [M
2
L

-2
T

-2
], [M

1/3
,L

-1
]   (4) [M

2
L

-2
T

-2
], [ML

-3
] 

7. n osa lSd.M esa oLrq }kjk r; dh xbZ nwjh gS              

Snth = u+
a

2
 (2n-1), tgk¡ u izkjafHkd osx rFkk a Roj.k gSA Snth 

dh foek gS %& 

(1)  [ L]                             (2) [LT
-1

]   

(3) [LT
-2

]                         (4) [L
-1

T] 
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8. If force (F), Velocity (V) and time (T) are taken as 

fundamental units, then the dimension of mass are :-  

(1)  [FVT
-1

]                        (2) [FVT
-2

] 

(3) [FV
-1

T
-1

]                       (4) [FV
-1

T] 

9. Given that 𝑣  is speed, r is the radius and g is the 

acceleration due to gravity. Which of the following is 

dimensionless :- 

(1) 𝑣 2
/rg             (2) 𝑣 2

r/g         (3) 𝑣 V
2
g/r      (4) 𝑣 2

rg 

10. The speed of light (c), gravitational constant (G) and 

Planck’s constant (h) are taken as the fundamental units in 

a system. 

(1)  [G
1/2

h
1/2

C
-5/2

]           (2) [G
-1

h
1/2

C
1/2

] 

(3) [G
1/2

h
1/2

C
-3/2

]             (4) [G
1/2

h
1/2

C
1/2

] 

11. From the dimensional consideration, which of the 

following equation is correct :- (a Maximum 

displacement of particle, 𝑣 Velocity of particle, T 

Time period] 

(1)  y = a sinvt            

(2) y = asin (
2𝜋𝑡

𝑇
) 

(3) y = ( 
a

𝑇 
) sin t/a      

(4) y = (a/ 2 )[ sin (
2𝜋𝑡

𝑎
) + cos (

2𝜋𝑡

𝑇
)] 

12. Density of a liquid in CGS system in 0.625gm/cm
3
. What 

is its magnitude in SI system ? 

(1)  0.625       (2) 0.0625       (3) 0.00625     (4) 625 

13. The dimension of resistivity in term of M,L,T and Q 

where Q stands for the dimension of charge, is :- 

(1) [ML
3
T

-1
Q

-2
]            (2) [ML

3
T

-2
Q

-1
] 

(3)  [ML
2
T

-1
Q

-1
]            (4) [MLT

-1
Q

-1
] 

14. The equation of a wave is given by :- y = A sin 𝜔 

   (
𝑥

𝑣
− 𝑘 ). Where 𝜔  is the angular velocity and 𝑣  is he 

linear velocity. The dimension of K is :- 

(1)  [LT]                        (2) [T] 

(3) [T
-1

]                         (4) [T
-2

] 

15. The velocity of a freely falling body changes as g
p
h

q
. 

Where g is acceleration due to gravity and h is the height. 

The value of p and q are :- 

(1) 1, ½        (2) ½, ½      (3) ½, 1       (4) 1, 1 

16. The period of a body under SHM i.e. presented by T = 

P
a
D

b
S

c
, Where P is pressure, D is density and S is surface 

8. ;fn cy] osx rFkk le; ewy ek=d gksrs rks nzO;eku dk 

foeh; lw= gksrk gS %&  

(1)  [FVT
-1

]                        (2) [FVT
-2

] 

(3) [FV
-1

T
-1

]                       (4) [FV
-1

T] 

9. ;fn 𝑣  = pky] r = f=T;k rFkk g xq:Roh; Roj.k gks rks 

foekghu jkf’k gksxhA  

(1) 𝑣 2
/rg             (2) 𝑣 2

r/g         (3) 𝑣 2
g/r      (4) 𝑣 2

rg 

10. ;fn izdk’k dk osx (c), xq:Roh; fu;rkad (G) rFkk Iykad 

fu;rkad (h) ewy ek=d fy;s tkrs gS rks bl ubZ i)fr esa 

le; dk foeh; lw= gksxk %& 

(1)  [G
1/2

h
1/2

C
-5/2

]           (2) [G
-1

h
1/2

C
1/2

] 

(3) [G
1/2

h
1/2

C
-3/2

]             (4) [G
1/2

h
1/2

C
1/2

] 

11. foeh; fof/k ls] fuEufyf[kr esa ls dkSulk lehdj.k lgh gS :- 

;gk¡ (a d.k dk vf/kdre foLFkkiu, V d.k dh pky, 

T xfr dk vkorZdky] 

(1)  y = a sinvt       

(2) y = asin (
2𝜋𝑡

𝑇
) 

(3) y = ( 
a

𝑇 
) sin t/a  

(4) y = (a/ 2 )[ sin (
2𝜋𝑡

𝑎
) + cos (

2𝜋𝑡

𝑇
)] 

12. CGS i)fr esa nzo dk ?kuRo 0.625xzke/lseh
3
. gSA SI i)fr esa 

bldk ifjek.k gksxk ? 

(1)  0.625       (2) 0.0625       (3) 0.00625     (4) 625 

13. izfrjks/kdrk dh foek;s M,L,T rFkk Q ds inksa esa gksxhA [;gk¡ 

ij Q vkos’k dh foek dks n’kkZrk gSA] 

(2) [ML
3
T

-1
Q

-2
]            (2) [ML

3
T

-2
Q

-1
] 

(3)  [ML
2
T

-1
Q

-1
]            (4) [MLT

-1
Q

-1
] 

14. ,d rjax dk lehdj.k y = A sin 𝜔     (
𝑥

𝑣
− 𝑘 ) . ls fn;k 

tkrk gSA tgk¡ 𝜔  dks.kh; osx rFkk 𝑣  js[kh; osx gSA K dh 

foek gSA   

(1)  [LT]                        (2) [T] 

(3) [T
-1

]                         (4) [T
-2

] 

15. eqDr :i ls fxjrh gqbZ oLrq dk osx g
p
h

q 
ls ifjokfrZr gksrk gS] 

tgk¡ g xq:Roh; Roj.k rFkk h Å¡pkbZZ gS rks p vkSj q ds eku 

gksaxs :- 

(2) 1, ½        (2) ½, ½      (3) ½, 1       (4) 1, 1 

16. ljy vkorZ xfr djrh fdlh oLrq dk vkorZdky T = 

P
a
D

b
S

c
 ls izdV fd;k tkrk gSA ;gk¡ P = nkc, D = ?kuRo vkSj 
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tension. The value of a,b and c are. 

(1)  
−3

2
, ½,1    (2) -1, -2, 3   (3) ½, 

−3

2
, ½   (4) 1,2, 

1

3
 

17. Conversion of Units :- 1kgm
2
s

-2
 = _______ gcm

2
s

-2
. 

(1)  10
3
          (2) 10

2
       (3) 10

7
       (4) 10

10
 

18. G = 6.67 x 10
-11

 Nm
2
kg

-2
 = ________ Cm

3
s

-2
gm

-1
. 

(1)  6.67x10
-8

                  (2) 6.67x10
-15

 

(3) 6.67x10
-10

                  (4) 6.67x10
-5 

19. If the time period (T) of vibration of a liquid drop depends 

on surface tension (S), radius (r) of the drop and density 

(ρ) of the liquid, then the expression of T is. 

(1) T = K ρ𝑟3/𝑠         (2) T = K  ρ1/2 𝑟3𝑠 

(3)  T = K  ρ𝑟3/𝑠1/2    (4) None of theses 

20. Position of a body with acceleration ‘a’ is given by 𝑥 = 

Ka
m
t
n
, here t is time. Find dimension of m and n ? 

(1)  m=1,n=1                    (2) m=1,n=2 

(3) m=2,n=1                     (4) m=2,n=2 

S = i`"B ruko gS rks a,b, c ds eku gksaxsA 

(1)  
−3

2
, ½,1    (2) -1, -2, 3   (3) ½, 

−3

2
, ½   (4) 1,2, 

1

3
 

17. ek=d dk :ikUrj.k:- 1kgm
2
s

-2
 = _______ gcm

2
s

-2
. 

(1)  10
3
          (2) 10

2
       (3) 10

7
       (4) 10

10
 

18. G = 6.67 x 10
-11 

Nm
2
kg

-2
 = ________ Cm

3
s

-2
gm

-1
. 

(1)  6.67x10
-8

                  (2) 6.67x10
-15

 

(3) 6.67x10
-10

                  (4) 6.67x10
-5 

19. ;fn fdl nzo dh cwan ds dEiu dk vkorZdky (T), cwan ds 

i`"B ruko (S), f=T;k (r) ,oa ?kuRo (ρ) ij fuHkZj djrk gks rks 

vkorZdky T dk O;atd gS %& 

(1) T = K ρ𝑟3/𝑠         (2) T = K  ρ1/2 𝑟3𝑠 

(3)  T = K  ρ𝑟3/𝑠1/2    (4) None of theses 

20. fdlh oLrq dh fLFkfr 𝑥  = Ka
m
t
n
, mldk Roj.k a gS ;gk¡ t 

le; gSA m rFkk n dh foek Kkr dhft,A 

(1)  m=1,n=1                    (2) m=1,n=2 

(3) m=2,n=1                     (4) m=2,n=2 
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ANSWER SHEET 

Question 1 2 3 4 5 

Answer 1 3 3 4 1 

Question 6 7 8 9 10 

Answer 3 2 4 1 1 

Question 11 12 13 14 15 

Answer 2 4 1 2 2 

Question 16 17 18 19 20 

Answer 1 3 1 1 2 

 

 


